Please solve below exercises using the Equation Editor, you must show work. Answers are already provided from the actual book. You must show however how you have arrived at the answer.

Section 6.2

Exercise 67 Perform the indicated operation
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Answer: 
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Exercise 73 Perform the indicated operation
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Answer: 
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Section 6.3 

Exercise 17 Build each rational expression into an equivalent rational expression with the indicated denominator
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Answer: 
[image: image6.wmf]awz

z

8

36

2

-


Exercise 63. Find the LCD for the given rational expressions and convert each rational expression into an equivalent rational expression with the LCD as the denominator.
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Answer: 
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Section 6.4

Exercise 9. Perform the indicated operation. Reduce each answer to the lowest terms.
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